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14—2—>58—>6—>9—>7-—3—11 > 10 —> €2,C6,C9
A knot diagranﬂ 1 G ¢s €8 €T C3 C11 Cio

Ideals for irreducible component#ﬂ)f Xpar

I = (u'® —3u'® + - 40+ 8, —3u'® —18u'® + - +4a+9, v +5u'® +-. —6u—1)
IV =+ 0>+ 302 +2b4+1, a, u—1)

* 2 irreducible components of dim¢ = 0, with total 24 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I. If =
(ul®—3u'®+...44b+8, —3u'?—18u'®+...+4a+9, v?°+5u'%+..-—6u—1)

(i) Arc colorings
1
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ap = (gulg —10u® + -+ + 13u + 3)

(ii) Obstruction class = —1

(iii) Cusp Shapes
— L Ty19 _ 65,18 | 33,17 4 241,16 | %uw _ %um _ i3y 422112 ggq,11

.2 4
767431 ul® + —23243 ud + —61%3 ud — —35293u7 — 49145 +1313u® — 4—;7u4 — %u:z + %UQ + 50u + %Tl



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cq w0 -5+ 6u—1
C2 u? 27t 4 — 120+ 1
c3, C7 w0 4+ ut® . —40u— 16
5 u? =20 o 2u 1
Cg, C10 w0 -2 42+ 1
cg,Cy,C11 W0+ 6u? - —6u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4 20 =27y 12y + 1
C2 y?0 — 63y + - + 564y + 1
€3, Cr y?0 — 27y 4 ... + 960y + 256
Cs Y0 — 42y 6y +1
¢6, €10 Y 6y +- o —6y+1
cg, Cg, C11 y20+18y19+~-~— 142y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.593945 + 0.7495731
0.901534 — 0.8702441
—0.062242 + 1.1900301

1.80617 + 0.154751

—5.78761 + 0.249471

0.593945 — 0.7495731
0.901534 + 0.8702441
—0.062242 — 1.1900301

1.80617 — 0.154751

—5.78761 — 0.249471

0.742600 + 0.8058371
—0.823991 + 0.8961901
—0.361535 — 1.366300.1

1.34574 — 5.460191

—7.11600 + 5.634271

0.742600 — 0.8058371
—0.823991 — 0.8961901
—0.361535 + 1.3663001

1.34574 + 5.460191

—7.11600 — 5.634271

= 1.049030 + 0.4332481
—0.533800 + 0.7208461
—0.786836 — 0.1586281

—3.47404 — 1.253581

—14.5901 4 1.62181

1.049030 — 0.4332481
= —0.533800 — 0.7208461
—0.786836 + 0.1586281

—3.47404 + 1.253581

—14.5901 — 1.62181

= 0.723331
0.811887
= 0.0840139

—1.09578

—8.64200

1.41765 + 0.085581
—0.075401 4 0.8488211
—0.300271 + 1.1843201

—0.40356 + 2.620351

—6.94831 — 3.531021

1.41765 — 0.085581
—0.075401 — 0.8488211
—0.300271 — 1.1843201

—0.40356 — 2.620351

—6.94831 + 3.531021

—0.494818 4- 0.0349411
= 0.071730 — 1.2333901
= —0.12366 — 1.509201

> Q2 2| @ €|l & €8l f £ @ €8l Q& &8> 2 €| & 8|l 8 8|l & &
I

6.00682 — 3.107931

1.19914 + 2.442061




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.494818 — 0.0349411
a= 0.071730 + 1.2333901
b= —0.12366 + 1.509201

6.00682 + 3.107931

1.19914 — 2.442061

u = —1.67897 + 0.225351
a= 1.055750 —0.1439161
b= 0.293817 —1.3273201

—6.07483 + 3.490441

—7.50331 — 0.697561

u = —1.67897 — 0.225351
a= 1.055750 + 0.1439161
b= 0.293817 + 1.3273201

—6.07483 — 3.490441

—7.50331 + 0.697561

u = —1.73062
a= 1.07368
b= 0.672482

—10.3113

—17.59680

—1.71507 + 0.271641
a = —1.083580 + 0.1669121
b= —0.46653 + 1.620431

—7.04125 + 9.736571

—8.64627 — 5.281151

u = —1.71507 — 0.271641
a = —1.083580 — 0.1669121
b= —0.46653 — 1.620431

—7.04125 — 9.736571

—8.64627 + 5.281151

u = —0.098700 + 0.1737261
a= 116971 —1.93438]
b= —0.407505 — 0.3767181

—0.333685 — 1.1649401

—4.31355 + 5.644751

u = —0.098700 — 0.1737261
a= 1169714 1.934381
b= —0.407505 + 0.3767181

—0.333685 + 1.1649401

—4.31355 — 5.644751

u = —1.81202 + 0.098601
a = —1.124740 + 0.0571421
b= —1.163490 + 0.6282171

—14.0917 + 3.71511

—12.67457 — 3.101591

u = —1.81202 — 0.098601
a = —1.124740 — 0.0571421
b= —-1.163490 — 0.6282171

—14.0917 — 3.71511

—12.67457 4 3.101591




IL 1Y = (b* 4+ b3+ 3b*+2b+1, a, u—1)

(i) Arc colorings
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(ii) Obstruction class =1

(iii) Cusp Shapes = —2b% — 2b> — 7b — 13



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u—1)*
4
C2,Cq (u =+ 1)
C3, Ct u4
Cs, Cg, C9 w—uwd+3u?—2u+1
6 ut —ud 4wt 1
C10 wrtudrut+1
c11 w4 +3u+2u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 (y_ 1)4
C3,Cr7 y4
Cs,Cg, Cg y4+5y3+7y2+2y+1
C11
¢6, €10 v Y+ 3+ 2y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + y=1C)

Cusp shape

—1.85594 4 1.415101

—10.51825 — 2.961221

—1.85594 — 1.415101

—10.51825 4 2.961221

5.14581 + 3.163961

—8.98175 — 2.834891

u = 1.00000
0
b= —0.395123 4 0.5068441
u = 1.00000
0
b= —0.395123 — 0.5068441
uw = 1.00000
a= 0
b= —0.10488 + 1.552491
u = 1.00000
a= 0

b= —0.10488 — 1.552491

5.14581 — 3.163961

—8.98175 4 2.834891
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1 (= 1) (@ = 56 + - + 6u— 1)
€2 (u+ D)MW 4+ 270! + - — 120+ 1)
3, Cr ut(u® 4 ' 4 - — 40u — 16)
Cq (w4 1@ = 56+ + 6u— 1)
C5 (u* —u +3u? —2u+ 1) (u®® — 20 + - 4 2u+ 1)
o (= w® + 0+ 1) — 20! -+ 2u + 1)
s, Co (u* —ud +3u® — 2u+ 1) (™ + 6u® + .- — 6u+1)
c10 (u +u® +u? + 1) (w? =20 4+ 2u+ 1)
c11 (u* +u® +3u® +2u + 1) (u® +6u'® + - —6u+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
1,4 (y— DY (Y — 27y 4+ 12y + 1)
€2 ((y = DM (> = 63y™ + - + 564y + 1)
cs, cr Y (y?0 — 27y + - 4 960y + 256)
€5 (v* + 595 + 9% + 2y + 1) (y?° — 429 4. — 6y + 1)
C6,C10 W+ + 3+ 2+ (WP + 60 + - — 6y + 1)
€8, C9, C11 (y* +59° + 7% + 2y + 1) (y*° +18y" + .- — 142y + 1)
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